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(Incom e Tax/)
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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)      (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. What do you understand by “Pay as you earn Scheme” ?

State the important provisions mentioned under the

Income tax act regarding it.

  

      



2. Explain in details the procedure for calculation of Income

under Salary head.

 


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3. Compute total income of Mr. Manoj Kumar :

Income from Salary ` 6, 00, 000; Deposit in Public

Provident Fund ` 60, 000; Instalment of residential house

property ` 50, 000; Donation to political party ` 5,000;

Books of ` 15,000 donated to the school; medical

insurance premium paid for wife in cash ` 8,000.0.



 ` 6, 00, 000; 

` 60, 000;       ` 50, 000;

    ` 5,000;   ` 15,000 

;  

` 8,000.0 

4. Explain the provisions under Income-Tax Act 1961,

regarding valuation of annual-value of house property

with help of a few examples.

        

  1961      



5. Discuss the rights of Central Board of Direct Taxes and

Income tax commissioner.




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Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 

1. Write a note on working partner and renumeration

given to them under section 40(b) of Income tax act

1961.

1961 40

 

2. What is the difference between Previous year and

Assessment year ?



3. Explain, Gross Total Income and Total Income.



4. Briefly describe the history of Income Tax in India.


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5. Describe the various types of Securities under the Income

Tax Act.

 



6. What is the difference between business and

profession ?



7. Write short note on :

(a) Tax assessment officer

(b) Permanent Account Number



 

 

8. From the following information compute the annual

income of the house property :

(a) Municipal Value ` 80,000

(b) Fair Rent ` 1,20, 000

(c) Standard Rent ` 1,00,000

The house was self-occupied for four months and then

let-out @ (a) ` 10,000 p.m. (b) ` 15,000 p.m. Municipal

tax paid by the owner ` 10,000.
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       



(a)  ` 80,000

(b)  ` 1,20, 000

(c)  ` 1,00,000

     

   ` 10,000   ` 15,000  



 ` 10,000

**************


